FEBRFYyH—ER ALK

Hokushinetsu

HCFL(188")—7%) 818138 sAANo.11[28 X K&/ \—7 RRGRALE FEA
#8 2023 £ 58 13 B (+) 10.00 ¥v94 2| X (5 |5 26.0 °C[& SRR ()
£vr ANIZ [ 4K EE = |7vFasyiar— REFZAI
IE FRE 2R (2121 M & 812 /MR EE |4 B FKAER
R—LF—L _ s FYOIAF—L
. 1 1o ] 4 e
FREEKY Lo s ] 4 kK
- B5R 0 — 0 R Kick off Bbm 6 — 9 F
£ | |6 . B Sa—h FEFERAR|I . B Sa—h ZERAR] | m
m| el BFE i ey plawes|E!® EFE A FE ar [llwes| | m
90| [ok|23 | /NEFFF {R{Z »lok| 1] BR RiKEA »| [ 90
90| [oF|3 | BE RE »loF|3 | HIE R 1 5| [ 90
90| [oF| 5 EX N RE 1 1 »|oFl5 | dbEF KFN 1 45+2 4] 45
90| |oF|42 | [ EE sIvF[8 | Bia 288K 2 1 || 90
90| [oFfss]T sk =3 slvr(n | FE Ei |1 2 2 || 90
81| [vF[7 B & 81 w7 EX E 3 77 | 77
90| [vFlo | £& K% 1 sy MF[24 B = 86 4] 86
90| [we[io]  E IEth A GEEETES 2| [ 90
90| |vFf20 | BEXR FiE NGRS N 1 s [ 90
70| [wla | BE E 70 ulvfe] BA BX 2 1 63 5|| 63
90| |Fw|13 | {EE B2t s Fwlio | K AEAER 57 4| 57
0] [aK]s0 RE & = E|ok[21 | KF ThF =% Z|| 0
o [we[ra | =)l M = &[oFl4 | BE K = 5 B|| 45
ol Iv[is] & %A 1 = 7 &|oF|6 | L4EM HIR = &|| 0
20| |mFl1s | EH 5 =t 41 F|oFl22 | TR BERE xte 24 & 4
Of [vrl2s | HIR IGHR = &|wr|7| XA HRE |1 1 =17 & | 13
0| JoF|ss HH = Z|MF[14| FEIE K 1 =10 &H|| 33
0 S #|vrl1e | EHix BEE s = 0
0 S #|vrl1o | EFAH XKEB s = 0
0 e #|rwl13 | K KFD |1 2 = 9 F|| 27
_ _EaEf|1 1 3 &G54 8 12 .
Z=£RI5 e | g | BE|EE] A oo | wesn | g s | BE|EE Z=£RI5
BmEEN]  EEA || BF [ | B S| BI¥ B |y s EmlEae] | wT A
45 | c2li0lE IEth 3 8 11 GK 4 2 2 ,
66 ,| C1|5 |kt BE 2 2 4] cK 7 4 3 ,
78 Jci|o|EE K% 5 3 s | EErk]| 14 5 9 )
82 ,| c4|20|BEAR TFiE 1 1 |EEFK| o R
, ofrz94r] 1 1 ,
y o] Pk 0 ,
EEER ClLRAR—VEA C25JJL— C3Ei# CAEURLNDER CHiEIEfTE COMAENE C/ METAIA COImETAl M
BIBEE SIEFEATL— S2ELEAITA S3DIEME S4ESSABAMI (F) SHESEAMIE (th) S6REE CSEL2[E
BEFBE ~FuIL ->H53908—0RR 1EBEERO/ISR HATAVTDIRR SYa—k HSAF vFa—k  VsiL—ia—h
R F—L4% No.| T & |No. 7L AR N0 | 7L RN RO7 | BRiZiB @IL—HAL0BH. EENo.. TL—HE)
22 % WARZE |11 HE|24 [F 0 — 1 [m2i]24] > [mai] 11 [£8rs
35 o | FBEERF |5 K [41] BE 1 — 1 [A1]41] 1 [=21] 5 [HS
64 #| WAKRKZFE |26 K#F 1 — 2 |%3|26| ~ k2| 26 |aRs
72 5| MAKXZE |14 FEiE |17] E&F 1 — 3 [#mi]| 17] ~ [#n1] 17] = |#n1] 14 |z==s
85 % WMAKRZE |13 #aK (4] FEE 1 — 4 |wn2] 4 | ~ [esi| 4 | > |@ni| 13 [s8s
6:'\ —_—
6:'\ —_—
6:'\ —_—
6:'\ —_—
6:'\ —_—
6:'\ —_—
5:'\ —_—
5:'\ —_—
R—LF—LEEELE EE K T/ F— LB L E TEH FRE




